Mathematics – Grade 8

Curriculum Development and School Improvement- Secondary

MA.8.A.4.1 – Worksheet 1

Name:  ______________________________________ Date:  ____/____/____ Period:  _______


1. The equation below is used to find
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, the total cost, in dollars, not including tax, for the purchase of new school baseball uniforms (
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) that have a specific color and school logo.
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Which of the following is the same equation solved for
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2. The volume of a drinking cone is found by using the formula
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, where 
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is the radius and 
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is the height.  
Which of the following is the same equation solved in terms of 
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3. Ali created a model of the Great Pyramids of Egypt for his social studies class.  He used the formula 
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is the area of the base and 
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is the height of the pyramid to find the volume of his model.
Which of the following is equations can Ali use to find the height of the pyramid if he already knows the volume?
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4.  The surface area of a right square pyramid is 
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where 
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is the area of the base, 
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is the perimeter, and 
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is the slant height.  Which of the following is the same equation solved for 
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5. The equation to find the area of a triangle is 
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is the length of the base and 
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is the length of the height.   Which of the following equations is the same equation solved for 
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